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Public Administration

Paper II

weh 99T
gyautrent 11

Time Allowed : 75 Minutes]
Note

[Maximum Marks : 100

: This paper contains Fifty (50) multiple choice questions. Each question

carries Two (2) marks. Attempt A/l questions.

LI ~
Td YT I Gredl.

: I YTAUCIehd TRUT USTE (50) SgUdiEl Y 3TRd. Yk WYl | (2) T 3T

Assertion (A) and Reason (R) pattern :

Assertion (A) : District Planning
Board plays an important role in

plan formulation.

Reason (R)

information of local resources.

It has proper

Answer the following by using the

codes given below :
Codes
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

faum (A) anfor RO (R) ® 3R :
faerm (A) : g FaRon fSieer fEeE
Heorsl YfHehl HEweyul 3T

HIT (R) : fSieer fasm deed wenfen
AT I d Aifed) 379

TTeitd dfgdel aiR ®Ed A7 IR

m :

Hehdich :

(A) <= (A) 9 (R) TR 3R 9 (R)
T (A) 3 Arg TS ST

(B) Tl (A) d (R) R 318 g (R)
T (A) I AT RIS AR

(C) (A) SR 318, TU (R) I 3R
D) (A) I A&, 90 (R) I 3R

[P.T.O.



Who deals with the proposals
regarding grant of land for public

institutions in state ?
(A) Governor

(B) Chief Minister
(C) Cabinet

(D) Chief Secretary

Which of the following is not a tool

of executive control ?

(A) Political Control

(B) Administrative Control
(C) Elections

(D) Professional Ethics

According to .......... the collector is

the District Development Officer.

(A) The Rajasthan Panchayat
Samiti and Zila Parishad Act,
1959

(B) Tripura Municipal Act, 1994

(C) The Zila Parishad
Panchyat Samiti Act, 1961

and

(D) Bombay Village Panchayat Act,
1958

2.
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T HESeh GEATS QMo
&S 0 Bl ?

(A) TSI
(B) =i
(C) HfmHea
(D) q&a Hi=a

k! hIUd ShrdeR R oM |re
T ?

NS CIPREREL

(B) W s

(C) THaeTE
(D) HAEAIEe Fifaa

a o

(A) TSTEIM T=rad 9iFdl 9 fSeer aftue

HT, 1959
(B) QU HeTRUIfcTRl ShTaT, 1994
(C) foeg ufteog sufr v=ma afad

HRT, 1961

(D) & U9 U9 HEEl, 1958




Assertion (A) and Reason (R) pattern :

Assertion (A) : Parliament control

over delegated legislation is weak.

Reason (R) : Legislatures are

innocent of legal skill.

Answer the following by using the

codes given below :
Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

According to whom “To understand
the truth there is no alternative to

scientific method.”
(A) T.H. Green
(B) Karl Peers
(C) J.W. Best

(D) Chester Barnard

JAN - 21218/1I—C
faum (A) ofor R (A) § R :
faam (A) : weT foumeRa w9
ERER-CENC ]

&IT (R) : faeht Frreamaren srRHes
SHMA= 37
Hehdich :

Eeltel |igddl 9 wET AT I

femr -

(A) T (A) 9 (R) SR R 9 (R)
g (A) T A TR AR

(B) T (A) 9 (R) SRI<X 3 g (R)
g (A) T T ST AR

(C) (A) TR 31, 99T (R) 9F R

(D) (A) Ik 3¢ TU (R) U 8

Il H AT SRS SIif-eh
Tgdl foam@ o= v U wEE
Tﬂﬁ.”

(A) ST=. T
(B) =t foord
(C) STy, 9w
(D) =X A

[P.T.O.



Which of the following is the type

of Social Research ?

(A) Quantitative and qualitative

research

(B) Laboratory Research

(C) Physical Research

(D) Biological Research

In research sample units need not

(A) Systematic

(B) Subjective

(C) Identifiable

(D) Independent

7.
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WATAeh! ShIVTAT HTATSTR RN

ThR 38 ?

(A) TS STV T[UTcHe e

(B) WANTeoenia Heieq

(C) Hifaews Heed

(D) SHERmEa TeieE

(A) Bres

(B) AT

(®))

(D) @A




10.

Who developed the chi-square test

in 1900 ?

(A) Max Weber

(B) Karl Pearson

(C) Ronald Den

(D) F.W. Max

The study of naturally occurring set

of events of a situation is a type of

research :

(A) Experimental

(B) Survey

(C) Field

(D) Analytical

10.
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T8 1900 T3  HF-ThHR ' AT HIvl

forenfara et 2

(A) g I

(B) =1t fyswiq

(C) TTeS A

(D) Th.exy. HH

fafsre uftfeerdia Safifer e fafo

(A) TINTHR

(B) Ta&r

(C) & 19

(D) foagaroomeae

[P.T.O.



11.

12.

The primary catalyst of social

welfare services is ...........

(A) Panchayats

(B) Social Welfare Board

(C) Voluntary Organisations

(D) Zila Parishad

Who started the Family Planning

Programme in 1925 ?

(A) Lokmanya Tilak

(B) Sardar Patel

(C) R.G. Karve

(D) M.K. Gandhi

11.

12.
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qrATfSeh shodul dad grefash 3k

(A) TEId

(B) HHSI el HEwd

(C) et e

D) TSear qfg

o

1925 AEA Hed FASH ST gEam

vl el ?

(A) o= e

(B) 9ER A

(C) WA Ha

(D) WH.. T




13.

14.

According to whom “Research is a
more systematic activity directed

towards discovery and the

development of organised body of

knowledge.”

(A) C.A. Mozer

(B) Bogardus

(C) J.W. Best

(D) P.L. Bhandarkar

Family Planning Programme has
been started at National level since

the year .......

(A) 1952

(B) 1956

(C) 1960

(D) 1949

13.

14.
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HIOTAT HA CHINEA gAY Tw

Hafeed fohaTeHehal e S e wiy
Bd ° Hefcd AN SAferen ferenfEd
A ?

(A) €T "R

(B) &rmEd

(C) STy, oL

(D) di.ud. HgRHT

o

T WX Hed |

N o
ST onl<shH

(A) 1952

(B) 1956

(C) 1960

(D) 1949

[P.T.O.



15. Match List I with List IT and select

the correct answer from the codes

given below :

List I

List II

New Industrial Policy

Industrial Finance Corporation

of India

Industrial Policy Resolution

The Industries Development

and Regulation Act

(a) 1951
(b) 1956
(o 1991
(d) 1953
(1)
2)
(3)
(4)
Codes
(a)
@ @
B) 2
© @
D) 3

(D)
(2)
3)
3)
(1)

(0
(3)
(4)
(1)
(2)

(d)
4)
(1)
(2)
(4)
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15. = 1 |ierd F=1 11 Seodl 3T0T @eitet
Hhawid ard W Haer
Tt 1
(a) 1951
(b) 1956
(o0 1991
(d) 1953
it 11
(1) 7oA SiEnfies €ro
(2) YRaE SPEfes fou wees
(3) SiEnfier dru oua
(4) SirEnfies faem onftn fe SR

@ Wb O @
A (D) (2) @ @
@ @ & @ @
e @ & O @

D) 3 (1) 2 @

10



16.

17.

18.

The first institution of local self-

Government was established in :
(A) 1687
(B) 1887
(C) 1893
(D) 1946

In U.S.A. at present territorially the

largest unit of local government is

(A) City Municipality
(B) Town

(C) County

(D) Special District

An authority to determine and
execute measures within restricted
area inside and smaller than the

whole state is called :
(A) Provincial Government
(B) Regional Government
(C) Local Government

(D) State Government

16.

17.

18.
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T TS WYt ufeedl qee

(A) 1687
(B) 1887
(C) 1893
(D) 1946

T T SMRSHe] (FUAT) Fe
FrifeTehg e Tk TG HigT 52k

(A) IR TRUTeThT

(B) <=

(C) wr=d

(D) fomo e

T 9 Teamen wEifed o fawifa

11

[P.T.O.



19.

20.

Aims of E-panchayat as a mission

mode project are :

(1)

Internal computerization of

panchayat process

(2) Enabling panchayat to make

effective use of IT

3)

Enabling people to effective use
of IT

4)

Bring out transparency in

working of the panchayat
Codes :
(A) (1), (2) and (3)
(B) (2), (3) and (4)
(C) (1), (2) and (4)
D) (1), (2), 3) and (4)

Which one of the following functions

of Panchayati Raj is not listed in
the 11th schedule of Indian

Constitution ?

(A) Cultural Activities

(B) Solid waste management
(C) Small scale industries

(D) Public distribution system

19.

20.
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[a)

MM qeresll Yehed WA §-U=mdr=
2 AR

(1) J=d 9fRae 3Taid STk el

(2) HIfEd T SIS U=y

TIR 00

(3) WIfedt TAATE STOUES SHAH

TIR L0

(4) T RREYfRId TRl

STOTOY
Hehdieh :
(A) (1), (2) 20T (3)
(B) (2), (3) 3o (4)
(©) (1), (2) =mfor (4)
D) (1), (2), (3) 7for (4)
TR ToTEeAd WEATeTdeh! hIvd Teh
T o w1198 R s
T 2

(A) GiEpfas &

(B) == oHIEAIH

(C) &9 3

(D) Hresier ferdaeor gumedt

12
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21. “Administration is now so vast an | 21. ‘'UTEAM & AT gdeh foqd A i,
area that a philosophy of SMHes YIMEATE dwadd §  Staredl
Administration comes close to being O ST Sa% oS oTR.!! o
a philosophy of life.” Who said - Y 9
this ?

(A) o HEHA
(A) Herbert Simon

(B) TAEl. =&
(B) L.D. White

(C) fadie regm
(C) Vincent Ostrom

, (D) #rfa 3. fewts

(D) Marshall E. Dimock

22. Market model in public | 22. TIRYRTEARIS ‘SR T’ AR Faifea

administration is related with :
AR
(A) Extreme form of decentra
lisation (A) ot fommfsehto e
(B) Market-oriented public (B) STSR T S
administration
(C) IMEATE SIS R0
(C) Fiscal policy of Government
(D) Bazaar canteen model (D) 9K =<1 Urey
13 [P.T.O.



23.

24.

25.

Delegation is a transfer of authority

(A) planning

(B) policy making
(C) overall control
(D) routine work

Follet distinguished between which
3 types of leadership ?

(1)
2)
3)
(4)
(A)

Leadership of position
Leadership of planning
Leadership of personality
Leadership of functions
(1), (2), 3)

(1), 3), (4)

(2), (3), (4)

(1), (2), (4)

(B)
©)
(D)

Which is the distinctive feature of

public choice approach ?
(A) Institutional

(B) Bureaucratic

(C) Administrative egoism

(D) Monocratic administration

24.

25.

JAN - 21218/II—C

grel STfereR =

TRicie AT WeieTdeh! IO T SqeeTe
EEANCI I R teC S

T AP

AT g

HfRTHE e

RIRICIRT

(D), (2), 3)

(1), (3), (4)

(2), (3), (4)

(D), (2), (4)

(1)
2)
(3)
(4)
(A)

(B)
(®)
(D)

A frae gfesmm mewge afime

RI0Td ?

(A) TEATHSE

(B) TIhMEIcHS
(C) W 3TEdR
(D) Tehesa HIH

14
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26. Who has analysed the leadership in | 26. Jq@WI ‘IGBFTH Ffadg ' & H=T 10T
terms of ‘circular response’ ? favaifa et ?
(A) C.I. Barnard (A) Hi.em. sHe
(B) M.P. Follett (B) TA.I. el
(C) J.D. Millet (C) €l foere
(D) F.W. Taylor (D) ThH.e=g. R
27. Assertion (A) and Reason (R) pattern: | 27. fa&m (A) 7for RO (A) ® 3T®
Assertion (A) : Scientific manage- e (A) - VTS ST Tas
ment neglected the human side of
AT a5 GAT&d ehell 3.
the organisation.
Reason (R) : It viewed organi- AT (R) : ¥R ST Foe
sation mechanistically codes. RlEED m qredrd.
Answer the following by using the weliel Gfea=n am w%d A S
codes given below : fore
Codes
T
(A) Both (A) and (R) are true and
(R) is the correct explanation (A) T (A) I (R) TR 3T 9 (R)
of (A) B (A) ° A TR IR
(B) Both (A) and (R) are true but (R) (B) St (A) T (R) SRR 3TI%‘T{§ R)
is not the correct explanation . .
7 (A) 3 9T T AT
of (A)
(C) (A) is true but (R) is false (C) (A) SRR &Te, o1 (R) IF oTe
(D) (A) is false but (R) is true (D) (A) 9% e, T (R) SRR 37§
15 [P.T.O.



28.

29.

Herbert A. Simon outlines his theory

in the book ...........

(A) ‘Administrative Behaviour and
Decision-making’

(B) ‘Administrative Behaviour in
Administrative Organisation

(C) ‘Decision-making and
Administrative Organisation’

(D) ‘Administrative Behaviour : A

Study of Decision-making

Process in Administrative

Organisation
Hierarchy demands ............
(A) Centralised authority
(B) Clear functions

(C) Decentralised accountability

(D) Innovative structure

29.
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I Y Bole. T FIIHEAT AT

(A) ‘wRTEEE oaqq o et

(B) ‘UNTHHIE  HESAdlA  URIHHE
-

(C) ‘frofaufsren ofT  weTERA
P

(D) ‘VRITEETT T : TIEh I HEd

3.
(A) s AfHHR
(B) T2 &

o~

(C) ITWEIE T

(D) SET=qul =

G

16
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30. The first major exponent of the 30. SRR TR Rra 3l SRR
traditional or classical theory of
m .qaﬁa; ............ 3:“%..
motivation is :
(A) HEA
(A) Maslow
(B) Fayol (B) Hd
(C) Taylor (C) &R
(D) McGregor (D) HHIR
31. Cabinet in USA is a ......... body. 31. T TN SRS (FTE) Ffare
(A) Constitutional %T ............. W 3:"%..
(B) Statutory (A) it
(C) Extra-statutory and extra- (B) etk
constitutional (C) tfudenfar 9 srfudfaentys
(D) Semi-constitutional (D) erefafaenfis
32. Line agency is a/an .......... 30 TR mEm Sy
(A) Functional subdivision . N
(A) HEcHS SAfTIFTON
(B) Mathematical subdivision
(B) iU SqfarwrTof
(C) Filter and funnel in decision-
making (C) fofa fafeom JeAEEY
(D) Advisory agency (D) 9ol ®Zh
17 [P.T.O.



33.

34.

35.

One feature of Weberian model of

Bureaucracy is :
(A) Inititative
(B) Cooperation
(C) Continuity
(D) Flexibility

While appointing the judge in USA

the President has to get consent

(A) Congress

(B) House of Representatives
(C) Senate

(D) Outgoing judge

Parliamentary commissioner in the

UK can investigate cases of :
(A) Departments

(B) Nationalised companies
(C) Local authority

(D) Private companies

33.

34.

35.
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e AR WTEuT Teh afTsed :
(A) e
(B) @
(C) HIaA

(D) wafaehal

G T SRR (. TE.T) =AFd=

(B) US&Hd Hu=a

(C) Tenfaen AfeRT=ar=i

(D) WA S I

18
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36. Wh defined Devel t ~ o
© etne CVEIOPMENY | 36 ‘faymprg wemed ¥ el yaw, sdenfsdia
Administration as ‘an action-
TRTEA =T 379, TH SATeA1 Hivht
oriented, goal-oriented administra-
Shell e ?
tion system’ ?
(A) S 2. AR
(A) John D. Montgomery
B) 3Teae dfedd
(B) Albert Waterson (B)
(C) Irving Swerdlow (C) =M =Tl
(D) Edward Weidner (D) TEaE dRe™
37. Which five year plan gave | g7 wrcferist sowen daafie derren 95
importance to Industrial Develop- - -
P P 3ENfiTer o Ten Ao TUad ST ?
ment ?
(A) dfgen
(A) First
(B) g8
(B) Second
C m.
(C) Third ©
(D) Fourth (D) e
19 [P.T.O.



38.

39.

40.

When was the Asian Development

Bank established ?
(A) 19th December, 1966
(B) 19th December, 1967
(C) 19th December, 1968
(D) 19th December, 1969

Which one of the following is not
an example of development

administra-tion in India ?

(A) Panchayati Raj Institutions
(B) Revenue Administration
(C) Urban Administration

(D) Nagar Panchayat

It is not a factor of internal

coordination :

(A) Superior’s ability

(B) Subordinate’s skill
(C) Singleness of purpose

(D) Operational freedom

38.

39.

40.
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fyEe fasm@ d®=l TUUAT gl
ELST

(A) 19 fe&sR, 1966

(B) 19 fe&sr, 1967

(C) 19 fe&sr, 1968

(D) 19 fe&sR, 1969

YRATIA  fIeht I @reiierieh]

U Teh SEEl AR ?
(A) o TS HE
(B) Hegd WRmEA

(C) T g9

(D) TR Y=Fd

EIFiP
(A) I3 &

T 3T HSEE USh

(B) AfTg HwTe™

(C) 3= THET
(D) URETeHE @\

20
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41. In the period of ............ the District’ | 41. 7 AT hTehTea AT
was formed as a unit for ST ‘ fSiegl’ 81 weeh WUM TR el
administrative purpose. e,

(A) Robert Clive (A) U FTE®
(B) Lord Cornwallis (B) @e wiAdi™
(C) Warren Hastings (C) aF 3™
(D) Lord Wellesley (D) wrE et

42. Match List I with List IT and select | 42. &gﬂ I Hied %Lvﬂ IT Jezan amfor el
the correct answer from the codes Hfgdqa 4ra S| faer .
given below : ‘g\%ﬁ I

List I .
(Bodies) - (\(qg%)
(a) Central Secretariat (2) sTE HIeTeT
(b) Cabinet Secretariat (b) wfde Hibae™
(00 Planning Commission (¢ THEmRE &M
(d) Finance Commission (d) o smm
List II "\:Eﬁ‘ II
(Related Activities) . .
e . (deiferer =hre)
(1) Principles Governing Grants-
in- aid to states (1) TSAT STIRTT ERLUR
(2) Formulation of policies (2) #ro fregRo
(3) Co-ordination of activities of (3) fafaw werearen @t TFaY
various ministries (4) GEEA 9y
(4) Allocation of resources HadiE
e @ (g @ B © (@
B) @) 3 @ @ B @ @ @ @
(O) )] (3) 4 (@ < @ 3) 4) (@
D @ (1) 2 O D @ (1) 2 3
43. The present cabinet secretariat has | 43. 9quH sfee Gfgae@ T STt
been established on ........... U .
(A) 26th Jan. 1950 (A) 26 SH. 1950
(B) 15th August, 1947 (B) 15 3= 1947
(C) 5th Sept., 1946 (C) 5 9<. 1946
(D) 17th Sept., 1946 (D) 17 |<. 1946
21 [P.T.O.



44. As per sixth pay commission, which

45.

46.

47.

of the following is not included in
the categorisation of employees ?

(A)
(B)

Industrial and non-industrial

Personnel belongs to all Indian
Services

(C) Personnel belongs to Union

Territory

(D)

Personnel belongs to local
Government

Lal Bahadur Shastri National
Academy of Administration brings
out a quarterly journal known as :

(A) The Indian Journal of Public
Adminsitration

(B) Public Administration Review
(C) Administration and Society

(D) The Administrator

The merit principle of recruitment
was first recommended by :

(A) Northcote-Trevelyan committee
(B) Aitchison Committee
(C) Lee Commission

(D) Tomlin Commission

Which bill is put forth according to
Art. 117 ?

(A) Fiscal Bill

(B) Appropriation Bill
(C) Vote on Account Bill
(D) Money Bill

44.

45.

46.

47.

JAN - 21218/II—C

TRl dad  STEITIHR, @Ieiterde]
FTE HHATATAT FRIONA  FHT TS
TE 2

(A) STrEnfier o7for TR-sienfe

(B) sAfErel vRdE Seiaiia e
(C) hemd Wewmawa HH=rl

(D) Tk IMEATET HH=

oIl SBIgL VM TS YA SThIGHT

e SHA YRR d S

(A) T T FHA AT® Useli®w
SfeiHreeM

(B) Tl efeHiAeRRm fegy

(C) STeHI=EYH 3fve TEme!

(D) & sfeHH LR

FaiteTad ]/ [oTeTaw Haged

I gafael.

(A) Hfefepie-Feeiian g

(B) st Wit

(C) ot wftret

(D) <reiy |t

Treiee! v fadees = 117

(T TiauMia) Jed Hievag Id 2
(A) TS fagas

o~

(B) faf&sH fagas

(C) wEmreH fag=e
D) == fag=s
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48.

49.

50.

Report placed in Parliament before
discussion on demands of any

ministry is called .........
(A) Economic Survey Report
(B) Estimate Committee Report

(C) Public Accounts Committee
Report

(D) Report of CAG

The concept of zero based bdugeting
did not prove to be effective in the

India, mainly because of :

(A) Lack of infrastructure

(B) Lack of financial resources
(C) Lack of technology

(D) Lack of capacity building

The term “Indicative Planning” was
used by Planning Commission in

annual report of :
(A) 1976-77
(B) 1986-87
(C) 1992-93

(D) 2001-02

48.

49.

50.

JAN - 21218/11—C

HIUCAE o= SEeHHR ATNu=T

T HLOAEST FEL holedl STETTd

(A) Tfeier waem sTeata
(B) A fydl e1gara
(C) ieh o |l 3Teara

(D) 7o o HeerETadieThmn 3T8drd

IRA J[AETRG STdhedT=l Fehedl
TRumHeRReE g 8IS Yehall Fegdl, e
& &R TR :

(A) TETd glawmen s
(B) oTifefeh wHedm=n 14
(C) TN SANE

(D) &rwTfHidT=n wrE

(A) 1976-77
(B) 1986-87
(C) 1992-93

(D) 2001-02
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